Algebra II Name: -K P,M”Z

Quiz - Logarithms Date: Period: _____
1.) Convert the following to exponential form: log, 1024 =5
5
A = |04
2.) Convert the following to logarithmic form: e’ = 148.4132
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3.) Evaluate the following: loge57
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4.) Expand each of the following:
4,7 3 [3x2
a.) In (16x*y”) b.) log, 55
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5.) Condense each of the following:

a.) 4log,(x — 2) — 3logyy b.) 1nx+21ny—4lnm—%lnn
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6.) Solve each of the following equations for X. Be sure to check your solutions if necessary.

a.) Sx—3 — 42x+6
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X-3 = (Qx+b) .50\

X-2= 1.3 +5.17
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c.) log x +1log (x — 1) =log20

10g X (x-1Y =104 20
X*-Xx =70
XX -20=0
(x-5)(x+4\ =0

b.) log, (x* —6x) =4
7 = XX
|p=X"~oX

x> ox -1l =0
(X-O(*+2) =0

d.) 94x—1 = 27x+2
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e.) logs (3x —2) =logs (x +8) f)In (x—2)=4
4 _ -
=2 = X +3% & =X
X = =4 Ba% = A
AX~R=8 |
2% =10 (= S5
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